—\
( ZCom

ANT-D5G-23

20dBi ESMEEEXER

KIRIRIE
SRERE E
RigILEE
wmEAE
KEEE
EHAE
AL
i AR
R
IR

B AR =

BRIk Rh & E 4R
ZERSRE A

Lightning protection

5150 - 6100 MHz
20dBi

Dual linear, £45°
10°

10°

-30 dB (max.)

50 Ohm

N/A

N Jack x 2

6 W (cw)

216 km/hr
-40°C to +80°C

1.245 kg(exclusive of
mounting kit)

320 x 320 x 43 mm(include
N jack)

IP67
Pole & Wall mount

DC ground




~\
( ZCom

Radiation Pattern

Magnitude (dB)

Magnitude (dB)

H-plane Co-polarization Pattern

-50

—5100 MHZ
=——5300 MHZ
= 5500 MHZ

T T T
-180 -150 -120 -90

T T T T T
60 -30 0 30 60 90 120 150 180
Angle (degree)

V-plane Co-polarization Pattern

@

)
=}

Magnitude (dB)
B o Ao
b

-30

-180 -150 -120

——5100 MHz
== 5300 MHz
|—— 5500 MHz
|——5700 MHz
| 5900 MHz

-90 -30 0 30 120 150 180

Angle (degree)

60 90

H-plane Co-polarization Pattern

[
5
L

@
&
1

73
&
1

A
S

-180 -150 -120 -90 -60

= 5100 MHz
= 5300 MHz
—— 5500 MHz|

120 150

60 90

30 0 30
Angle (degree)

V-plane Co-polarization Pattern

=

15
=

ra
@

Magnitude (dB)

&
S

-180 -150 -120

——5100 MHz
5300 MHz
| 5500 MHz

j e 5700 MHz
| 5900 MHz

-90 30 0 30 120 150 180

Anale (dearee)

60 90

Port-1

ANT-D5G-23

H-plane Cross-polarization Pattern

——5100 MHz
5300 MHz
—— 5500 MHz
e 5700 MHz
——5900 MHz

Magnitude (dB)
3

-180 -150 -120

-90 -60 90 120 150

30 0. 30 60
Angle (degree)

H-plane Cross-polarization Pattern

Magnitude (dB)

Port-2(white)

—5100 MHz
=———5300 MHz
——5500 MHz
—— 5700 MHz
= 5900 MHz

-150 120 90 60 -30

o 30
Angle (degree)

60

90

H-plane Cross-polarization Pattern

Datasheet

120 150 180

10
—— 5100 MHz
5 —— 5300 MHz
— 5500 MHz
o —— 5700 MHz
— 5800 MHz
@ 51
Z
o 10
°
- 181
*g" -154
S oo fee e T Ts2
254 -
-30 -
-354
180 -150 -120 -80 90 120 150 18O

60 30 0 30 60
Angle (degree)

V-plane Cross-polarization Pattern

Magnitude (dB)

-180 -150 -120 -90 -60 ﬁgle?deg?ge) 60

5100 MHz
= 5300 MHz
— 5500 MHz
5700 MHz
5900 MHz

90

120 150 180



ANT-D5G-23

N Datasheet
( ZCom

Product Drawing

GENERAL TOLERANCE RANGE
| INJECTION(H{H{4) | X=+0.5 X.X=40.3 X.XX=+0.2
B ASSEMBLY(#1514) |X=15 X.X=42 X.XX=+1
ANGLES: X=£2°
UNIT : MM

320+4

165.1+4

<t
+l —
S I I
@ 8 <
Te} © =
~— o
«© (g}
[
! ot ! ]
154.9+4
+l ' = ] ‘
3 | " .

_—
24,842




ANT-D5G-23

N Datasheet
( ZCOom

Mounting Configuration

Pole Mount

Slant+45 Degree Polarization Hor. & Ver. Polarization

Wall Mount

Slant+45 Degree Polarization Hor. & Ver. Polarization

7

) & ?
=
b
]

1. M-Type breaket (L) 1Pcs 10. Rotating bracket 1Pcs
2. Space Keeper 2Pcs 11. XHM8-1.25*20 2Pcs
3. Spaing washer 6Pcs 12. Mounting main fram 1Pcs
4. M6-1.0 Nut 6Pcs 13. U-Type Screw 2Pcs
5. Steel tube 93.2 mm 1Pcs 14. M6 washer 6Pcs
6. XHM8-1.25*120 1Pcs 15. Wall Tiger 4Pcs
7. M8 spring washer 3Pcs 16. TH 5/32-16*1" 4Pcs
8. M8 washer 4Pcs 17. Pole (¢p2~3inch)

9. M8 Nut 1Pcs

Note (# 3£):

1. Mounting recommended torque ( % %2 3£ 3% 44 % 42 /7 ):60 Kgf.cm(5.88 N.m)
2. Mounting Max. torque ( % %2 5 A 4% % 42 /7 ):80 kgf.cm(7.84 N.m)

Z-COM, INC.

5F, No. 8, Hsin-Ann Road, Hsinchu Science Park, Hsinchu, Taiwan

Tel.: +886 35777364 Fax: +886 35773359 C_.‘
www.zcom.com.tw ZC D m

Copyright © 2022 Z-COM INC. All rights reserved.




